
 
 

 
              

ÇEVRE  ÖLÇME 
 

     a Aşağıda çevreleri ve kısa kenarları verilen dikdörtgenlerin uzun kenarını örnekteki  
       gibi işlem yaparak bulalım.  
  

 
 
 
 
 
  

 
 
 
 
  

 
  

 
 
 
 
 
  

 
 
 
 
 
  

 
 
 
 
 
  

 
 
 
 
 
  

 
 
 
 

 
 
 
 

                               5 + 5 = 10                      28 – 10 = 18                       
                                                          18 ÷ 2 = 9 cm 
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7 cm Ç = 34 cm 
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3 cm Ç = 22 cm 
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10 cm Ç = 56 cm 
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8 cm Ç = 50 cm 


